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4) ; about y-axis 3 0 1y x y x x= = = 2=

)x

 
 interval: 1 2  x≤ ≤
  ( ) 0 ( )r x x= + =
 2 2 (l rπ π= =  
  3 3( ) ( ) (0) ( )h x x x= − =
  3 4( ) 2 ( )( ) 2 ( )A lh x x x xπ π= = =
  42 ( )V A x x xπΔ = Δ = Δ

 

2
2 4 5

1
1

5 5

3

12 ( ) 2
5

1 12 (2) (1)
5 5

32 1 31 622 2
5 5 5 5

V x dx x C

C C

units

π π

π

ππ π

⎡ ⎤= = +⎢ ⎥⎣ ⎦

⎧ ⎫⎡ ⎤ ⎡ ⎤= + − +⎨ ⎬⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦⎩ ⎭
⎧ ⎫⎡ ⎤ ⎡ ⎤ ⎧ ⎫= − = =⎨ ⎬ ⎨ ⎬⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦ ⎩ ⎭⎩ ⎭

∫

 

 
 
8) 2y x y x= = ; about y-axis 
 
 By Shells 
 interval: 0 1x≤ ≤  
  ( ) 0 ( )r x x= + =
 2 2 (l r )xπ π= =  
 2 2( ) ( ) ( ) ( )h x x x x x= − = −  

 
3

2 32( ) 2 ( )( ) 2 ( )A lh x x x x x xπ π= = − = −  

r

xΔ  

( )h x

xΔ

( )h x

 
3

322 ( )V A x x x xπΔ = Δ = − Δ  

 

13 51 3 4 5 42 2
0

00

5 4 5 4

3

2 1 2 12 ( ) 2 2 ( )
5 4 5 4

2 1 2 1 2 12 ( (1)) (1) ( (0)) (0) 2
5 4 5 4 5 4
8 5 3 32 2
20 20 20 10

V x x dx x x C x x C

C C

units

π π π

π π

ππ π

⎡ ⎤
r

1
⎡ ⎤= − = − + = − +⎢ ⎥ ⎢ ⎥⎣ ⎦⎣ ⎦

⎧ ⎫⎡ ⎤ ⎡ ⎤ ⎧ ⎫= − + − − + = −⎨ ⎬ ⎨ ⎬⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦ ⎩ ⎭⎩ ⎭
⎧ ⎫ ⎧ ⎫= − = =⎨ ⎬ ⎨ ⎬
⎩ ⎭ ⎩ ⎭

∫

 

 
 slicing (washer method) 

or
 interval: 0 1  y≤ ≤

 
2

2

y xy x
x yx y

==

==
 yΔ

ir
 2 2( ) 0 ( ) ( ) 0 (o ir y y r y y= + = = + = )  

 2 2 2( ) ( ) ( ) ( )o i
4A y y A yπ π π π= = = = y  
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 4( ) ( ) ( )o i
4A A A y y y yπ π π= − = − = −    4( )V A y y y yπΔ = Δ = − Δ  

 

1
1 4 2 5 2 5 2 5

0
0

3

1 1 1 1 1 1( ) (1) (1) (0) (0)
2 5 2 5 2 5

1 1 5 2 3 3
2 5 10 10 10 10

V y y dy y y C C C

units

π π π

ππ π π

⎧ ⎫⎡ ⎤ ⎡ ⎤ ⎡= − = − + = − + − − + ⎤
⎨ ⎬⎢ ⎥ ⎢ ⎥ ⎢⎣ ⎦ ⎣ ⎦ ⎣⎩ ⎭

⎧ ⎫ ⎧ ⎫ ⎧ ⎫= − = − = =⎨ ⎬ ⎨ ⎬ ⎨ ⎬
⎩ ⎭ ⎩ ⎭ ⎩ ⎭

∫ ⎥⎦  

 
 
10) 0y x x y= = 2= ; about x-axis 
 
 2y x x y= ⇒ =  
 interval: 0 2  y≤ ≤
  ( ) 0 ( )r y y= + =
 2 2 (l r )yπ π= =  
  2 2( ) ( ) (0) ( )h y y y= − =
  2 3( ) 2 ( )( ) 2 ( )A lh y y y yπ π= = =
  32 ( )V A y y yπΔ = Δ = Δ

 

2

C+
2 3 4

0
0

4 4 3

12 ( ) 2
4

1 12 (2) (0) 2 {4} 8
4 4

V y dy y

C C units

π π

π π π

⎡ ⎤= = ⎢ ⎥⎣ ⎦

⎧ ⎫⎡ ⎤ ⎡ ⎤= + − + = =⎨ ⎬⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦⎩ ⎭

∫

)

( )h x

yΔ  

r

 

 
 
14) ; about x-axis 23 4 ( 1x y x y+ = = − −
 

  23
4 ( 1)

3
x y

x y
x y
+ =

= − −
= −

 intersect: 

 

2

2

2

2

3 4 ( 1)
( 3) 0

3 4 ( 2 1)
3 0

03 3 2 3
3 0

y y
y y

y y y
y

yy y y y
y y

− = − −
− =

− = − − +
⇒ − =

=− = − +
=

− =

 

 interval: 0 3  y≤ ≤
  ( ) 0 ( )r y y= + =
 2 2 (l r )yπ π= =  

  

2

2

2 2

( ) (4 ( 1) ) (3 )
(4 ( 2 1)) (3 )
(3 2 ) (3 ) (3 )

h y y y
y y y

y y y y y

= − − − −

= − − + − −

= − + − − = −

( )h y

yΔ

r

  2 2( ) 2 ( )(3 ) 2 (3 )A lh y y y y y yπ π= = − = − 3

  2 32 (3 )V A y y y yπΔ = Δ = − Δ
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[ ]

3
3 2 3 3 4 3 4 3 4

0
0

3 3

1 1 12 (3 ) 2 2 (3) (3) (0) (0)
4 4 4

3 1 272 (3) 1 0 2 27
4 4 2

V y y dy y y C C

units

π π π

ππ π

C⎧ ⎫⎡ ⎤ ⎡ ⎤ ⎡= − = − + = − + − − + ⎤
⎨ ⎬⎢ ⎥ ⎢ ⎥ ⎢⎣ ⎦ ⎣ ⎦ ⎣⎩ ⎭

⎧ ⎫ ⎧ ⎫⎡ ⎤ ⎡ ⎤= − − = =⎨ ⎬ ⎨ ⎬⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦⎩ ⎭ ⎩ ⎭

∫ ⎥⎦  

 
 
16) 0y x y x= = 1= ; about  1x = −
 
 interval: 0 1x≤ ≤  
  ( ) 1 ( 1)r x x= + = +
 2 2 (l r x 1)π π= = +  
 ( ) ( ) (0) ( )h x x x= − =  

 
3
2( ) 2 ( 1)( ) 2 ( )A lh x x x x xπ π= = + = +  

 
3
22 ( )V A x x x xπΔ = Δ = + Δ  

 
( ) ( )

( ) ( ) ( ) ( )

[ ]

13 5 31
2 2 2

0
0

1
5 3

0

5 3 5 3

3

2 22 ( ) 2
5 3

2 22
5 3

2 2 2 22 (1) (1) (0) (0)
5 3 5 3

2 2 6 10 16 322 0 2 2
5 3 15 15 15 15

V x x dx x x C

x x C

C C

units

π π

π

π

ππ π π

⎡ ⎤
= + = + +⎢ ⎥

⎣ ⎦

⎡ ⎤= + +⎢ ⎥⎣ ⎦

⎧ ⎫⎡ ⎤ ⎡= + + − +⎨ ⎬⎢ ⎥ ⎢⎣ ⎦ ⎣⎩ ⎭
⎧ ⎫⎡ ⎤ ⎧ ⎫ ⎧ ⎫= + − = + = =⎨ ⎬ ⎨ ⎬ ⎨ ⎬⎢ ⎥⎣ ⎦ ⎩ ⎭ ⎩ ⎭⎩ ⎭

∫
r

( )h x

xΔ  

⎤+ ⎥⎦

 

 
 
18) 2 22y x y x= = − ; about 1x =  

r

( )h x  

xΔ 
 intersect: 

  

2 2

2

2

2 2( 1)( 1) 0
2 2 0 1 0 1 0

1 12( 1) 0

x x x x
x x x

x xx

= − + − =
− = ⇒ + = − =

= − =− =
 interval: 1 1x− ≤  ≤

x
)x

  1 ( ) (1 )r x= − = −
 2 2 (1l rπ π= = −  
  2 2( ) (2 ) ( ) (2 2 )h x x x x= − − = − 2

 
2

2 3

( ) 2 (1 )(2 2 )
2 (2 2 2 2 )

A lh x x x
x x x
π

π

= = − −

= − − +
 

  2 32 (2 2 2 2 )V A x x x x xπΔ = Δ = − − + Δ
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1
1 2 3 2 3 4

1
1

2 3 4 2 3 4

2 12 (2 2 2 2 ) 2 2
3 2

2 1 2 12 2(1) (1) (1) (1) 2( 1) ( 1) ( 1) ( 1)
3 2 3 2

2 1 2 1 3 2 5 22 2 1 2 1 2
3 2 3 2 2 3 2 3

V x x x dx x x x x C

C C

π π

π

π π

−
−

⎡ ⎤= − − + = − − + +⎢ ⎥⎣ ⎦

⎧ ⎫⎡ ⎤ ⎡= − − + + − − − − − − + − +⎨ ⎬⎢ ⎥ ⎢⎣ ⎦ ⎣⎩ ⎭
⎧ ⎫ ⎧ −⎡ ⎤ ⎡ ⎤ ⎡ ⎤ ⎡ ⎤= − − + − − − + + = − − +⎨ ⎬ ⎨⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦ ⎣ ⎦ ⎣ ⎦⎩ ⎭ ⎩

∫
⎤
⎥⎦

3

3 2 5 22
2 3 2 3

4 12 4 8 162 4 2 2
3 3 3 3 3

units

π

ππ π π

⎫ ⎧ ⎫= − + −⎬ ⎨ ⎬
⎩ ⎭⎭

⎧ ⎫ ⎧ ⎫ ⎧ ⎫= − = − = =⎨ ⎬ ⎨ ⎬ ⎨ ⎬
⎩ ⎭ ⎩ ⎭ ⎩ ⎭

2

1 0 1 0
0 1 1 1

y y
y

y y
y y y

= + −
= +

+ = − =
= −

= − =
≤

2)

 

 
 
20) ; about  2 1x y x= + = 2y = −
 

 intersect: 
2 1

 
2

2

0 ( 1)( 1)

 interval: − ≤  1 1y
  ( ) 2 ( 2)r y y= + = +
 2 2 (l r yπ π= = +  
  2 2( ) (2) ( 1) (1 )h y y y= − + = −
  2 2( ) 2 ( 2)(1 ) 2 (2 2 )A lh y y y y y yπ π= = + − = + − − 3

yΔ
( )h y

r  

  2 32 (2 2 )V A y y y y yπΔ = Δ = + − − Δ

 

1
1 2 3 2 3 4

1
1

2 3 4 2 3 4

1 2 12 (2 2 ) 2 2
2 3 4

1 2 1 1 2 12 2(1) (1) (1) (1) 2( 1) ( 1) ( 1) ( 1)
2 3 4 2 3 4

1 2 1 1 2 1 9 2 2 72 2 2 2
2 3 4 2 3 4 4 3 3 4

V y y y dy y y y y C

C C

π π

π

π π

−
−

⎡ ⎤= + − − = + − − +⎢ ⎥⎣ ⎦

⎧ ⎫⎡ ⎤ ⎡= + − − + − − + − − − − − +⎨ ⎬⎢ ⎥ ⎢⎣ ⎦ ⎣⎩ ⎭
⎧ ⎫⎡ ⎤ ⎡ ⎤ ⎡ ⎤ ⎡ ⎤= + − − − − + + − = − − −⎨ ⎬⎢ ⎥ ⎢ ⎥ ⎢ ⎥ ⎢⎣ ⎦ ⎣ ⎦ ⎣ ⎦ ⎣⎩ ⎭

∫
⎤
⎥⎦

316 4 4 13 4 8 162 2 4 2 2
4 3 3 3 3 3 3

unitsππ π π π

⎧ ⎫
⎨ ⎬⎥⎦⎩ ⎭

⎧ ⎫ ⎧ ⎫ ⎧ ⎫ ⎧ ⎫= − = − = − = =⎨ ⎬ ⎨ ⎬ ⎨ ⎬ ⎨ ⎬
⎩ ⎭ ⎩ ⎭ ⎩ ⎭ ⎩ ⎭

 

 
 

22-a) tan 0
4

y x y x π
= = = ; about 

2
x π
=  

 

 interval: 0
4

x π
≤ ≤  

 ( )
2 2

r xπ π⎛ ⎞= − = −⎜ ⎟
⎝ ⎠

x   2 2
2

l r xππ π ⎛ ⎞= = −⎜ ⎟
⎝ ⎠

 

r

( )h x  

xΔ  

  ( ) (tan ) (0) (tan )h x x x= − =
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 ( ) 2 (tan ) 2 tan tan
2 2

A lh x x x x x xπ ππ π⎛ ⎞ ⎛= = − = −⎜ ⎟ ⎜
⎝ ⎠ ⎝

⎞
⎟
⎠

 2 tan tan
2

V A x x x x xππ ⎛ ⎞Δ = Δ = − Δ⎜ ⎟
⎝ ⎠

 

 4
0

2 tan tan
2

V x x
π ππ ⎛ ⎞= −⎜ ⎟

⎝ ⎠∫ x dx  

 
 

24-a) 3

2
1

xy x y
x

= =
+

; about  1x = −

 
 intersection: 

 

3
3

2
4

4

2 ( 1) 0
0=

1
( 1)( 1)2

1 0
0 0

1

x x xx
x

x x x xx x x
x

x x x
x

− ==
+

− + ++ = ⇒
− =

− = =
=

 

xΔ

( )h x

r

 interval: 0 1x≤ ≤  
   ( ) 1 ( 1)r x x= + = + 2 2 (l r x 1)π π= = +  

 3 3

2 2( ) ( )
1 1

x xh x x x
x x

⎛ ⎞ ⎛= − = −⎜ ⎟ ⎜+ +⎝ ⎠ ⎝
⎞
⎟
⎠

 

 
2

2
3 3 3 3

2 2 ( 1) 2 2( ) 2 ( 1) 2 ( 1) 2
1 1 1 1

x x x x xA lh x x x x x x x
x x x x

π π π
⎛ ⎞+⎛ ⎞ ⎛ ⎞= = + − = − + = + − −⎜ ⎟⎜ ⎟ ⎜ ⎟+ + + +⎝ ⎠ ⎝ ⎠ ⎝ ⎠

 

 
2

2
3 3

2 22
1 1

x xV A x x x x
x x

π
⎛ ⎞

Δ = Δ = + − − Δ⎜ ⎟+ +⎝ ⎠
  

21 2
3 30

2 22
1 1

x xV x
x x

π
⎛ ⎞

= + − −⎜ ⎟+ +⎝ ⎠
∫ x dx

4

7 3 0 3 0
3 30 9

y y y
y y y

y yy

− = = + −
⇒ + = − =

= − == −

 

 
 
26-a) ; about  2 2 7x y x− = = 5y =
 

 intersection: 16− =  

2 2

2

2

(4) 7 0 ( 3)( 3)

 2 2 2 2 2 27 7 7x y x y x y x y− = = + = ± + = + 7
≤
y

)y

 
 interval: − ≤  3 3y
  5 ( ) (5 )r y= − = −
 2 2 (5l rπ π= = −  

 ( ) ( )2 2( ) 4 7 4 7h y y y= − + = − +  

 ( ) ( )2 2 2( ) 2 (5 ) 4 7 2 20 4 5 7 7A lh y y y y y y yπ π= = − − + = − − + + +  

r

( )h yyΔ

 ( )2 22 20 4 5 7 7V A y y y y y yπΔ = Δ = − − + + + Δ  

 ( )3 2 2

3
2 20 4 5 7 7V y y y yπ

−
= − − + + +∫ dy  
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36) ; about y-axis 2 2 1y x y− = = 2
 

 intersect: ( )( )

2 2

2

2

(2) 1
4 1
0 3

0 3

3 0 3 0

3 3

x
x
x

x x

x x

x x

− =

− =

= −

= + −

+ = − =

= − =

3
 

 interval: 0 3  x≤ ≤
 This is from 0 to 3  because the graph 

is symmetric and we don’t want to double count the volume. 

r  

xΔ  

( )h x  

 

2 2

2 2 2

2

1
1 1

1

y x
y x y x y

y x

− =

= + ⇒ = + =

= ± +

2

)x

 

  ( ) 0 ( )r x x= + = 2 2 (l rπ π= =  

 ( ) ( )2 2( ) (2) 1 2 1h x x x= − + = − +  

 ( ) ( )2 2( ) 2 ( ) 2 1 2 2 1A lh x x x x x xπ π= = − + = − +  

 ( )22 2 1V A x x x x xπΔ = Δ = − + Δ  

 

( ) ( )

( ) ( ) ( )

333 2 2 2

0
0

3
32 2

2 2

3 3 3

12 2 1 2 1
3

1 12 3 1 3 (0) 1 (0)
3 3

1 1 8 1 9 7 2 42 3 (2) 0 (1) 2 3 2 2
3 3 3 3 3 3 3 3

V x x x dx x x C

C C

units

π π

π

ππ π π π

⎡ ⎤= − + = − + +⎢ ⎥⎣ ⎦

⎧ ⎫⎡ ⎤⎛ ⎞⎪ ⎪⎡ ⎤= − + + − − + +⎢ ⎥⎨ ⎬⎜ ⎟ ⎢ ⎥⎣ ⎦⎝ ⎠⎢ ⎥⎪ ⎪⎣ ⎦⎩ ⎭
⎧ ⎫⎡ ⎤ ⎡ ⎤ ⎧ ⎫ ⎧ ⎫ ⎧ ⎫= − − − = − + = − = =⎨ ⎬ ⎨ ⎬ ⎨ ⎬ ⎨ ⎬⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦ ⎩ ⎭ ⎩ ⎭ ⎩ ⎭⎩ ⎭

∫

 

 because: 
( )

2

3 3
2 22

11 2
2

1 1 2 11 1
2 2 3 3

p x dp x dx dp x dx

x x dx p dp p C x C

= + = =

⎛ ⎞⎛ ⎞+ = = + = + +⎜ ⎟⎜ ⎟
⎝ ⎠ ⎝ ⎠

∫ ∫
 

 
 
40) For this, set the origin in the middle of the tube of torus with center of torus (middle of donut hole) being 

the rotational axis at x R= −  
 Now the equation of the cross section of torus becomes 2 2 2x y r+ = .  Also when we solve this equation 

for y, we get 
2 2 2 2 2

2 2 2 2

x y r y r x

y r x y r x

+ = = + −
⇒

= ± − = − −
 where positive is upper curve and negative lower one. 
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interval:  This range is from

r  

( )h x

xΔ

x R= −  

r  

2 2r x−  

r
x  

θ

2 2

1

2 2

sin
cos

sin sin
cos cos

x
r xr xx r r

r
dx r d r x r

θ
θ

θ θ
θ θ θ

−

=
−

= ⎛ ⎞= = ⎜ ⎟
⎝ ⎠= − =

 
 to  because we have a circle of radius r. rr x r− ≤ ≤   r− 

 ( ) ( )r x R x R= + = +   2 2 (l r x )Rπ π= = +  

( ) ( ) ( )2 2 2 2 2 2( ) 2h x r x r x r x= + − − − − = −   

( ) ( )2 2 2 2 2 2( ) 2 ( ) 2 2 2 2A lh x x R r x x r x R r xπ π= = + − = − + −   

( )2 2 2 22 2 2V A x x r x R r x xπΔ = Δ = − + − Δ   

( )
2

2 2 2 2 2

2 2 2 2 2
1 1

1 1( cos )( cos ) cos 1 cos 2 sin 2
2 2 2

1( sin cos ) sin sin
2 2 2 2

rr x dx r r d r d r d C

r r x x r x r xC C
r r r r

θ θ θ θ θ θ θ θ θ

θ θ θ − −

⎛ ⎞ ⎛ ⎞− = = = + = + +⎜ ⎟ ⎜ ⎟
⎝ ⎠ ⎝ ⎠

⎛ ⎞⎛ ⎞−⎛ ⎞ ⎛ ⎞ ⎛ ⎞⎜ ⎟= + + = + + = + − +⎜ ⎟⎜ ⎟ ⎜ ⎟ ⎜ ⎟⎜ ⎟⎜ ⎟⎝ ⎠ ⎝ ⎠ ⎝ ⎠⎝ ⎠⎝ ⎠

∫ ∫ ∫ ∫
 

2 2x r x C

 

( ) { }
( )

( ) ( )

2 2 2

23
2 2 1 2 2

3 3
2 2 2 2

2
1 2

2

12 2 sin
2 2

( ) ( )

2
( ) 12 sin ( )

2 2

r r

rr

r r

r x R

r xr x C R x r x C
r

r r C r r C

r rR r r
r

π

π

− −

−

− −

−

+

⎧ ⎫⎡ ⎤⎪ ⎪⎛ ⎞⎡ ⎤= − − + + + − +⎨ ⎬⎜ ⎟⎢ ⎥⎢ ⎥⎣ ⎦ ⎝ ⎠⎣ ⎦⎪ ⎪⎩ ⎭

⎧ ⎫⎡ ⎤ ⎡ ⎤− − + − − − − +⎨ ⎬⎢ ⎥ ⎢ ⎥⎣ ⎦ ⎣ ⎦⎩ ⎭
=

⎛ ⎞+ + −⎜ ⎟
⎝ ⎠

2 2 2 2 22 2 2 2 2
r r r

r
V x r x dx x r x dx R r x dxπ π

−
= − − = − + −∫ ∫ ∫

[ ] [ ]{ } ( ) ( )

{ }

2
2 1 2 2

2 2
1 1

2 2

( ) 1( ) sin ( ) ( )
2 2

2 0 0 2 sin 1 0 sin 1 0
2 2

2 0 2
2 2 2 2

r rr C r r r C
r

r rR

r rR

π

π ππ

−

− −

⎧ ⎫
⎪ ⎪
⎪ ⎪
⎨ ⎬

⎧ ⎫⎡ ⎤ ⎡ ⎤−⎪ ⎪⎛ ⎞⎪ ⎪+ − + − − − +⎨ ⎬⎜ ⎟⎢ ⎥ ⎢ ⎥⎪ ⎪⎝ ⎠⎪ ⎪⎣ ⎦ ⎣ ⎦⎩ ⎭⎩ ⎭
⎧ ⎫⎧ ⎫⎡ ⎤ ⎡ ⎤⎪ ⎪ ⎪⎪= − + + − − +⎨ ⎨ ⎬⎬⎢ ⎥ ⎢ ⎥

⎪ ⎪⎣ ⎦ ⎣ ⎦⎪ ⎪⎩ ⎭⎩ ⎭
⎧ ⎧ ⎫⎡ ⎤ ⎡ ⎤−⎪ ⎪ ⎪⎛ ⎞ ⎛ ⎞= + −⎨ ⎨ ⎬⎜ ⎟ ⎜ ⎟⎢ ⎥ ⎢ ⎥

⎝ ⎠ ⎝ ⎠⎪ ⎪⎣ ⎦ ⎣ ⎦⎩ ⎭
2 2 2

2 32 2 2 2 2
4 4 2

rr r rR R r R unitsπ π ππ π π

⎫⎪
⎬

⎪ ⎪⎩ ⎭
⎧ ⎫⎧ ⎫ ⎧ ⎫⎡ ⎤ ⎡ ⎤ ⎧ ⎫−⎪ ⎪ ⎪⎪ ⎪ ⎪= − = =⎨ ⎨ ⎬⎬ ⎨ ⎨ ⎬⎬⎢ ⎥ ⎢ ⎥

⎪ ⎪ ⎪ ⎪⎣ ⎦ ⎣ ⎦ ⎩ ⎭⎪ ⎪⎩ ⎭ ⎩ ⎭⎩ ⎭  


